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#include <iostream h>=
#include <string.h=

inl £.¥:
char 3-11.'1{4"1“'-‘ I_”]u"ﬂl.l","ﬂrﬁ","hﬂﬂ'",“hﬂ“ﬂ”};
char strj20];

Wop 73 OPDA IPINN TR N 3w W2 Ly MNEIE DYDY T2 YR 12
TR

P 1N YOPh 0P TETR N0 {rmnpadl N
1 = strlenistri [1]);
v = strien{strl|[3]);

cout << %3 =" << y-x <<endl;

.oy TN YODT OTDa Do nb (mTpid) 3
strepyistrstrl |21}
streat|strstel [D]);
coul << “str =" << str << gndl;

21 1IN YOPT) 0P DT 1D (mmpad)

str{0] = 'Q';

sirjl] = "0

strepy (str+2.strl[3] )

cout << gty = << gtr << * sir’ =" <<str+ LT 111 H

JPE 1MAN YOPN DD 0o TR (rynpa by 1

for (a=lhr<d;xtt)
gtreat{stel[x]," "N
for (x==ix<3;1++)
gtreat(sir] [x+1] strl[x]);
streatisirl [0],strl]|3]);
cout << "sirl = " << strl1[0] << endl;
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#include <iostream. h>
fdieline M 4

int mat[N||N] ={{1,534].

634,75,
(7,593},

{858,601

mmaind

|

int i,j.sum;

for {i=l;=Nat+t)
For{j=0sj <N;j++)
matfi][j] = (mat]i] [j] < man i) |i]) ot [§] () cmat] i1l

sum = Il
for (i=0i<N;it++)
far (j=03j<N;j++)
sum += {mat]i] [j=mat[j][i])?1:0;

for (=D=M i+
i
for (j=lj<N:j++)
cout << mat|i]lj] =< *_*;
cout =< endl;

H
cout =< spm <<endl;
return 0
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#nclude <iostream. h=

cluss Cvector |
public;

il 1,5

Cwvector );

Cvector (ol aol);

Cvector operatar + {const Cvector&);
Cvector operator * (const Cvector&);
I

Cvector::Cwyector () | ==l +=0; |
Cvector::Cvector (int a,intb) | x = a; ¥ = b:}

Cwector Cvectoroperatort (const Cvector& param)
{

Cvector temp;

lemp.1 = I + param.x;

tempey =¥ + piram.y;

return lemp;
!
Cvector Cvector: :operator® (const Cvector& param}
I

Cweclor temp;

femp.x = x * param.s;

temp.y = ¥ * param.y;

return temp;
!

maing |

i

Cwvector a(3.1);
Cvector b(4,2);
Cvector ¢d;

¢ = a.aperator-Hh);
d = a*b;

cout << ®px= *<<ax <<"ay= “<<ay<<endl
comt << “hx= * <<hx << *by = " <<hy<<endl;
cout << “rE= " oy = Moy = ® oo oy << endl;

cout << *da = * << dx =< “dy= " <<dy << end];

riturn
;
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finclude <streamio.h>
class Csquare;

class Crectangle |
int width, hetght;
public:
void sel_values (iat a,int b) { width = a; height = b;}
int area (void) [return (width® height);}
void convert {const Csquare&);

clasg Cagquare |
private:
it side;
public:
vaoid set_side(int a) {side = a;]
friend class Crectangle;
i

void Crectangle::convert (const Csquared a) |
width = a.gide;
height = aside;
1

miain {)

i

C'square sqr;

Crectangle rectl rectl;

sqr.set_sidel(d);

rectl set_valoes(4,2):

rect2.convert(sqr);

cout << rectl.areal} <<* * <<rectlareal) << endl:;
relurn 0;
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library LEEE;

use IEEE. std_logic_1164.all;
oue IEEK. sid logic_omsigned. ull;
use IEFE. std_logic_arith.all;

entity FUNC ia
generic (M ;s nawral .= ¥k
part {
A,B:in sid logic_vector (N-1 downin 0);
RES :wui #id logic);
endd FIINC;

architecture RTLL of FUNC is
begin
plb: process (A B}
variahle FLAG: std_logic;
begin
FLAG ="
for | TN A'lengih-1 downio O loop
i (Afi}="1") and (B() ="0") then
FLAG :=*1";
exit;
cluif (A7) = *0%) and (B(i) = *1") then
Cxit;
end if;
cnil loop;
RES <= FLAG;
end pricess;
end BTLI;
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library IEEE;
use TEEE.atd_logic_1164.ull;
use TEEE.std_logic_vmsigned.all;

entity FUNC2 is
port |
DIN :in std_logic_vector (15 downto 0)
RES :ont std logic vector (3 downio )}
end FUNCE;

architecture RTT. of FUNC is
n
it process{DIN]
variable vec : std_logic vector {15 downto 0);
begin
ver o= (vec range == ‘)3
RES o= S
for j i 0 b 15 loop
if (DIN(15 downte j) = vee (15 downlo j) then
RES <= "“{WHNF" - j:
exit;
il iff;
end Ioap:
£l process;
end RTL;
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51 : im std_logic — "0 ¥R NOMD
DIN : in std_logic_vector {7 downlo ) — Y22p0 ¥R IO
CLK : in std_logic —00007 720 142 0w
Pla : in std_lopic — MY7¥a0m N0 I0am 15
EN : in std_logic —m010 avine e W
RSTno : in std logic  10T32 MIPTN DO P
LRn : in std_logic - 7o AVINT MM AT A 0T
ROUND : in std_logic — 51 -2 enoow M3 IeNNE TR RO R
OUTMLA : in std_logic -
ming 130 1Yo s (MSBRnr mmvnen nare omnn HXIET N
{LSBInrwown

TV TR 1T
S0 : out std_logic
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